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fecost(1,))= Min i nee 1€0,Dtfcost(i+1,1)}
ol fCOst(1,8) & g0 4 dlins Olg> *
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feost(k-1,1)=c(J,t) cyimon *




feost(1,1)=Min{3+fcost(2,2), 9+icost(2,3), 2+icost(2,4)} ={19,14,15}=15
feost(2,2)=Min{7+fcost(3,5)} =(7+91=16

feost(2,3)=Min{5+fcost(3,5), 1+fcost(3,6)} =(5+9, 1+4}=5
fcost(2,4)=Min{6-+fcost(3,5), 9+fcost(3,6)} ={6+9, 9+4}=13

fcost(3,5)=9

fcost(3,6)=4
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Algorithm FGraph(E, k,n,p)

fcost[n]=0;

For(j=n-1;j>0;j--} “ .
r|(j,r) € E & {c[j,r]*+fcost[r] is minimum}
fcost[j]=c[j,r]+fcost]r] > O(|V| + [E|)
D[j]=r

} l?

P[1]=1; p[k]=n;

for(j=2;j<k;j++) O(|V|+ [E
}0(k) mmm)> O(/V| + |E|)
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A[i,j]=Min {Min{Ak1[i,k]+ AkI[kj], A[ij]} 1<=k<=n]
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Algorithm All_Paths(Cost,A,n)

fori=1tondo

{ forj=1tondo
Ali j=Cost[i];

; em—g O(n3)

for k=1 to n do

for i=1 to n do

forj=1tondo
Al j]=Min{A[i,j], Ali,k]+A[k,jI}
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